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Weight of lobsters in a tank in a restaurant is an example of ... variable.
() A.nominal

E B. quantitative
() C.discrete
(O D.qualitative

B The entire units of a phenomenon is called ..

() A.variable.
() B.frame.
() C.sample.

[#] D- population

A value that changes from one individual to another is called ...
() A. statistic.

() B. constant.

() C. parameter.

E] D. variable.

u Categories of magazines in a Physician's office (sports, women's, health, men's news) is an example of ... variable.
() A. continuous

() B. ordinal
E| C. nominal
() D.discrete
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Capacity of the NFL football stadiums is an example of ... variable.
() A. continuous

|E| B. discrete
() C.ordinal
() D.nominal

n Mail carriers of a large city are divided into four groups according to gender (male or female) and according to whether they walk or ride on their routes.
Then 35 are selected from two randomly selected groups and interviewed to determine whether they have been bitten by a dog in the last year. This is an
example of ... sample.

() A stratified
E] B. cluster

() C. systematic
() D.random

The statement "Experts say that mortgage rates may soon hit bottom" is an example of ...
() A. parameter.

() B. descriptive Statistics.
[#] C. inferential Statistics.
() D.simulation.

u Life of a TV tube is ...

( A. statistic.

- OB - P

() B. parameter.
(» C. constant.
@) D.variable.
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“ The height of each member of a basketball team is an example of ... variable.
() A. discrete

() B.nominal

() C. qualitative

E D. quantitative

The universe or totality of items or things under consideration is called ...
|\:‘| A. a statistic.

() B.a parameter.

C. a population.
) D.a sample.

m A 1s a characteristic or measure obtained by using the data values from a population.
[#]A. statistic

(0 B.sample mean

O C. parameter

() D.sample variance

12

The following data represents the final scores of a random sample of students:
90 81 87 71
9 93 81 9
78 96 88 83
§2 90 86 90
7 82 84 99

and __ respectively.

0A-077,-004,129
0B.-122,-0.77.1.44
[¢]C.-1.95,-0.63,1.88
() D.-1.95,0.26,0.55

[f the mean 15 equal to 86.25, and the standard deviation s equal to 6.79, then the standard scores of students who got 73, 82, and 99 are equalto . |
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The following data represents the ages of a group of patients:
60 54 67 51
66 64 61 63
57 38 66 45
34 40 31 61
39 86 66 63
The values of ages corresponding to the 15th, 25th, and 63th percentiles are equalto . .and . respectively.
[£]A-51,54.63
O B.31, 63, 66
0 C.51, 54, 66
(O D.34, 63, 66

The 1s the eastest average to compute.
) A.mode

() B.range

[¢] C- mean

() D.median

- OB - P

() A.mean
() B.range
) C.median
() D.mode

for a data set 1s unique and not necessarily one of the data values.

@&
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16

The yearly saving of a family for the last 10 years can be best displayed using ...
() A histogram.
E B. time series graph.
() C.pie graph.
() D.bar chart.
w Using the following graph, the percentage of people with age of at most 30 years ...
Ogive
100.0 _ 1)
90.0 - o~ 9
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AGE
() A.can't be determined. A
E]B. is about 14%.
() C.is about 10%.
() D.is about 16%. D
WThe following graph is called ...
Fund Risk Levels
400
350
300
250
200 :
150 :
100 )
50
]
Low Average High
() A.pie chart.
[#]B- bar chart.
) C.blood graph.
() D.Pareto chart.

@&
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The monthly number of car's accidents can be best displayed using ...
() A. pie graph.
() B. bar chart.
[¢] C. time series graph.
() D.histogram.
w The number of classes in the following graph ...
Frequency Polygon
300 !
250 @
@
200 t
2 . I )
gee : ®
10.0 @ S
5.0 @ @ .
@
0.0 @ ©
10 20 30 40 50 0 70 80 90 A
AGE
() A.is 8.
f\_) B.is 7.
EC. is 10.
() D.cannot be determined.

w In a frequency distribution, the classes must ...
() A.contain a maximum of 10 observations.

) B. have the same frequency.
C. be exhaustive.
() D.be measured on an ordinal scale.

@&
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The three types of frequency distributions are ..., ..., and ...
() A. qualitative, quantitative, time series.

() B. nominal, ordinal, quantitative.
ETIC. categorical, ungrouped, grouped.
() D.nominal, ordinal, continuous.

A bar chart is used most often when ...
() A.you want to organize data along certain time interval.

() B.you want to show frequencies as compared to total observations.
() C.you want to show frequencies by class intervals.
Iﬂ D. you want to display frequencies by category.

The degree of A blood type in the following graph is approximately ...

Blood Type

- OB - P

EA. 28.8
O B.104.4
© C.165.6
() D.61.2

A

The circled part of the above box plot represents
[£] A- the 3rd quartile.

() B. the 3rd percentile.

(O C. the 1st quartile.

(0 D.the 1st percentile.
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E The for a data set 1s unique and not necessarily one of the data values.

O A.mode
() B.range
() C.median
[¢]D-mean

— |

hree persons earn 15 SAR an hour, six earn 30 SAR an hour, and one earns 36 SAR an hour. The earning average per hour is approximately ..
0 A 27 AR,

0 B.29SAR,
() C.87 SR,
[}]0-26.1 SAR.

m Which one of the following is referred to as a parameter?
E]A. The population mode.

() B. The population data.
() C. The sample data.
() D.The sample median.

— > > N ™

w e measure of variation that gi iability in the data'setiis ...
EA. the range.

() B.the variance.
(» C.the standard deviation.
() D.the IQR.
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w The mean can take any value in the range ...

A. (- , +@),
() B.(0, +%@).

O C.(0, 1).
& D.(-% , 0).

w A statistic that tells the number of standard deviations a data value is above or below the mean is called ...
() A.a percentile.

() B.a standard deviation.

E| C.a z-score.

() D.a quartile.

w What is the most appropriate measure of central tendency for the following data set?
A,C,A,B,C,B,A,D

() A.range
() B. median
) C. mean
ED.mode

— > > N ™

mf There 15 a negative Tnear reatonsTp Detieen o0 Vaniabes, ten the probacity that e Vale of te coriaon CoBMCn Wil Be greater than o
equalto-11s..,

(A0
()B.0.25
()C03

HD.I

&
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A

A correlation coefficient of 2 implies ...
() A.very bad relationship between the variables.

El B. wrong calculations.
(» C.a perfect linear relationship between the variables.
() D.no relationship between the variables.

The complement of guessing 16 correct answers on a 16 multiple choice questions exam s ...
() A guessing at most 15 incorrect answers.

() B. guessing 16 incorrect answers.
E| C. quessing at most 15 correct answers.
() D.quessing at least 15 incorrect answers.

L
m In a statistics class there are 22 juniors and 8 seniors; 5 of the seniors are females, and 12 of the juniors are males. If a student is selected at random,
find the probability of selecting a junior or senior.

0 A.0.6000
(B.0.1000

E|C.1

0 0.0.9000

— > > N ™

In atrain yard there are 7 tank cars, 12 boxcars, and 9 fatcars. How many ways can a train be made up consisting of 2 tank cars, 8 boxcars, and 3
fltcars? (Order is not important)

() A 37442160
() B.600

() C.36288
E]D. 873160

&
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The number of multiple births in the United States for a recent year indicated that there were 29819 sets of twins, 768 sets of triplets, 510 sets of
quadruplets, and 122 sets of quintuplets. Choose one set of siblings at random. Find the probabllity that it represented more than two babies.
0A 00163

[ 0455
() C.09545
000002

Roll a die: Get a number greater than 3, and get a number less than 3. The events are ...
() A. not mutually exclusive

E] B. mutually exclusive
() C. outcome
() D.sample

410
m The number of suits sold per day at a retail store is shown in the table along with the corresponding probabilities.
X 25 26 27 28 29

P(x) 04 0.25 0.13 016 006

The best graph that can be used for displaying this probability distribution is ...
() A Pareto graph,

() B. histogram.
() C. pie chart.
ED. bar chart.

— > > N ™

/

m An insurance company insures a person's antique coin collection worth $20669 for an annual premium of §271, If the company figures that the probabilty
of the collection being stolen is 0,003, what will be the company's expected proft in the first year?

DA. 208.993

() B.208.18
0 C-208.18
0 D.-208.993

&
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The number of suits sold per day at a retail store is shown in the table along with the corresponding probabilities.
X 22 23 24 25 26

P(x) 0.24 0.21 0.17 03 008

What is the sample size?
EIA. Cannot be determined
O B.26

O C.120

O D.5

A discrete random variable ...

E|A. has a finite number of possible values that can be counted which are determined by chance.

() B.has an infinite number of values that can be counted which are determined by measurement.

() Chas an infinite number of values that can have decimal and fractional values which are determined by chance.
() D.has an infinite number of values that can have decimal and fractional values which are determined by count.

44

Surveying 588 prisoners to see how many different crimes they were convicted of. Is it a binomial experiment?
() A Yes,
() B.Not known,

E|C. No.

() D.Maybe.

— > > N ™

Find the mean for the number of heads when 102 coins are tossed.
1:_} A- 12.875

() B. 5.074446
l::l C. 25.75

ED.SI.S

&
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/
m The number of trials for a binomial experiment?

() A.is unchanged.
() B.is unlimited.

() C. can be infinite.
D. must be fixed.

w The mean of the sample means equals the ...

() A.sample mean.

() B.sampling error.

E| C. population mean.

() D.standard error of the mean.

.

The difference between a sample mean and a population mean is due to ...
() A. population error.

() B.standard error.
() C. standard error of the mean.
[¢] D-sampling error.

— > > N ™

/1 U
m What is not a property of the standard normal distribution?
[¢]A. It's uniform.
() B.It's bell-shaped.
() C.It's symmetric about the mean.
( D.It's unimodal.

&
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Which of the following is not a requirement of the binomial distribution?
() A. Only two outcomes are possible.

() B. The probability of a failure is the same for each trial.
[E] C.The trials must be dependent.
() D.The sample size must be fixed.

w A store contains 16 laptops. The probability that a laptop will be defective is 0.25. Then the mean number of non-defective laptops is ..
0 A 1732051

0 B.2
0O C4

BD. 12

w The probability of z between 0 and 0.4 is about ...
) A.0.8446

) B.0.6554
E] C.0.1554
) D- 0.5

— > > N ™

-

In a normal distribution, what is the percentage of the area that falls below the mean?
() A.95 %,

E| B. 50 %,

() C.99,7%,

() D.68 %,

&
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W What is the standard deviation of the sample means called?
() A. The sampling distribution.

() B. The central limit theorem.

() C. Normal distribution.

E D.The standard error of the mean.

E All variables that are approximately normally distributed can be transformed to standard normal variables.
() A Not possible.

() B. Not known,

() C. False.

E|D.True.

W The difference between a sample mean and a population mean is due to ...
() A standard error,

() B. population error.

() C. standard error of the mean,

m D.sampling error.

— > > N ™

E The standard deviation of all possible sample means equals the ...
() A square root of the population standard deviation.

E|B. population standard deviation divided by the square root of the sample size.
() C. population standard deviation divided by the population mean.
() D.population standard deviation.

&
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The probability that a cellular phone company sells X number of new phone contracts per day is shown below:

X 6 7 8 9 10
P(x) 0.36 0.27 014 0.16 0.07
What is the probability that they will sell at most 7 contracts 3 days in a row?
() A.0.63
\:) B. 0.37
() C.0.050653
E D.0.250047

w A continuous random variabl .

EA. 35 an nfinite number of values that can have decimal and fractonalvalues which are etermined by chance,
() Bhas an nfnite numbr of vlues that can have decmal and fractonal values which are determined by count

0 C has a finte number o possible vlues that can be counted which are determined by chance,

() Dihas a finite number of possble values or an infiite number of values that can be counted which are determined by measurement,

N insurance company insures a person's antique coin collection worth $20921 for an annual premium of 280, If the company fiqures that the probability
of the collection being stolen is 0.008, what is the expected profit for the person in the first year?

0 A 112632
() B.-110.392
[c-t12622
(0.110392

— > > N ™

w The standard variation can take any value in the range ...
() A(- +@).

O B.(0, 1).
- C.(-® , 0).
IEID'(O , +30).

&
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Suppose your statistics instructor tells you that you scored 82 on an exam and that the class mean was 74, You should hope that the standard deviation
of the exam scores was ...

(0 A any value.
051

E|C. smaller than 1.
() D.larger than 1.

-

The most appropriate measure of central tendency for the values -21, -24, -27, -23, -25, -26, -22,
-30, -29, -31, 35 is the ...

A. median.

() B.range.
() C.mode.
() D.mean.

2
w When data are categorized as single, married, divorced or widowed, the most appropriate measure of central tendency is the ...
() A median,

() B. mean.
() C.range,
EI D.mode.

— > > N ™

L

m A measure obtained from population data is called ...
() A.sample.

E B. parameter.

() C. statistic.

() D.population.

&
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Threg persons earn 15 SAR an hour, six ear 30 SAR an hour, and one earns 36 SAR an hour. The earning averaqe per hour is approximately ..
0 A29 AR,

0 B.875R,
0 G275,
0261 54

| ]
m A single, extremely large value can affect the ...
(» A.median more than the range.

EB. mean more than the mode.
« » C. median more than the mean.
() B.mode more than the mean.

When the shape of the distribution is symmetrical and the value of the median is 67, then the value of the mean ...
() A should be 75

() B. cannot be determined.
() C.should be 60
E| D.should be 67

— > > N ™

What is the range of values for the positive correlation coefficient?
O AD<r<+l

[¢]B- 0 <r<+1
0 C0<sre+l
O D.0gr<+l

&
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W The regression line is called the ...

() A.line of worst fit.
(1) B.line of perfect fit.

EC. line of best fit.
() D.line of single fit.

As the value of the correlation coefficient approaches 0, as the strength of the relationship becomes ...
[¢]A weaker.

() B. postive,
() Cmoderate.
(;\ D. Stronger.

m TFere 5 a pOSIUVE e FElaonsnip DECHEEn 1o VATables, 1nen e proooity tat Ehe Value oF 1Ne COmeiauon CORTIGIEn, Wil D@ 635 than or equal o
Jigis

EA.I

()8.0.25
0G0
0003

— > > N ™

w The following equation describes the relationship between two variables x and y:

yi=-2X3+3
The value of the correlation coefficient between x and y should be ...
l~:AI A. 0

[E]8--0.8
O C.-2
) D.3

&
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Drawing a ball from an urn, not replacing it, and then drawing a second ball are ...
[¢]A. dependent events.

() B. mutually exclusive events.
) C.not known.
() D.independent events.

m At a used-book sale, 101 books are adult books and 155 are children’s books. Of the adult books, 68 are nonfiction while 61 of the children's books are
nonfiction. If a book s selected at random, find the probabilty that it s a children's book or a fiction book.

E|A. 0.7344
() B.0.4961
() C.0.7617
()0.0.6328

L]

ﬁ Ina recent survey about subscription to sports TV channels, we found 8 out of 10 households had subscription to sports TV channels. Choose 4
households at random. Find the probability that non of the 4 households had subscription to sports TV channels.

0/A0.2000

() 8.040%
0 C.099%4
[0.00015

— > > N ™

w Elementary and secondary schools were classified by the number of computers they had.
Computers 1-10 11-20 21-50 51-100 100+

Schools 382 448 718 2282 3833
Choose one school at random. Find the probability that it has more than 100 computers.
EA. 0.5002

() B.0.0990
O C.0.1847
¢ D.0.8381

&
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L]
° In a recent year there were the following numbers (in hundreds) of licensed drivers in Saudi Arabia.

Male Female

Age 19 and under 4111 4055

Age 20 3627 4142

Age 21 2023 1818

Choose one driver at random. Find the probability that the driver is at least 20 years old.
) A.0.898

) B.0.208

) C.0.690

E D.0.587

How many different ways can a researcher select 5 rats from 20 rats and assign each to a different test?
EA. 1860480

() B.100
() C. 15504
() D.25

The complement of guessing 16 correct answers on a 16 multiple choice questions exam is ...
EA. guessing at most 15 correct answers.

() B. guessing at least 15 incorrect answers.
(> C. guessing at most 15 incorrect answers.
() D.guessing 16 incorrect answers.

— > > N ™

The probability of a certain event E is ...

[¢] A equal to 1.
() B.equal to 0 or 1.

() C.between 0 and 1.
() D.equal to 0.

&
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82

A store manager wishes to display 7 different kinds of laundry soap in a row. How many different ways can this be done?
A4
U

()82
E|C. 5040
0 D.7

-

If you would like to buy a car and you have the choice of Mini or Full-Size, each in one of three colors red, pink or orange. What is the sample space for
the choices?

EA. {Mini red, Mini pink, Mini orange, Full-Size red, Full-Size pink, Full-Size orange}

() B. {Mini Full-Size, red pink orange}

() C.{Mini, Full-Size, red, pink, orange}

() D.{Mini, red, Mini, pink, Mini, oranqe, Full-Size, red, Full-Size, pink, Full-ize, orange}

(]
04 The probability that a cellular phone company sells X number of new phone contracts per day is shown below:
X 5 6 7 8 9
P(x) 0.38 0.25 014 0.15 0.08
What is the probability that they will sell 6 or less contracts 3 days in a row?
O A.0.37
E] B.0.250047
( C.0.050653
0 D.0.63

— > > N ™ D>

E

If a person rolls doubles when he tosses two dice, he wins $11, For the game to be fair, how much should he pay to play the game?
DA. 1833333

() B.9.166667
ol
0 D.22

&
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The mean of a discrete probability distribution is also called the ...
() A.median.

() B.variance.

() C.standard deviation.

B D. expected value.

u The speed of a jet airplane is an example of ...

() A.fixed variable.

() B. probability.

() C.discrete random variable.
D. continuous random variable.

u Determine which one of the following is a probability distribution.
BIA x |4 3|2 1|0
PX)| 18| 1/4 |1/6]| 1/4 | 1/4

@8l x| 2| 4 0 1 2
PO 15| 1110 | 1110 | /5 | 1/5

— > > N ™

O Xx | 2| 3 |4]| 5] 6
PO | 23| 25 | 27| 219 | 211

@b ¥ |21 410 1 2
POO| 114 114 | 114 114 | 1/4

&
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° The amount of drug injected into a guinea animal is an example of ... variable.
() A.Discrete

E] B. continuous
( C. ordinal
() D.nominal

90
m A portion of the universe that has been selected for analysis is called ...

A. a sample.
() B. a population.
() C. a statistic.
() D.a parameter.

Techniques used to orqanize, summarize and present the data that have been collected are called .
() A populations,

E]B. descriptive statistics.

() . inferential statistics.

() D.samples.

— > > N ™

92
Religious affiliation is an example of ... variable.
() A. continuous

'.:,' B. Ordinal

() C.discrete
(@ D.nominal
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93

A value that changes from one individual to another is called ...

A. variable.

() B. statistic.
() C. parameter.
() D.constant.

oVi
u The value that occurs most often in a data set 1s called the 2
() A.range
() B.median
() C.mean

D.mode

-

— > > N ™

The circled part of the above box plot represents
[¢] A the median.

() B. the mode.

() C. the variance.

() D.the mean.

A is a characteristic or measure obtained by using the data values from a sample.
) A.population variance

(O B. population mean

[#] €. statistic

(O D.parameter

&
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The following data set displays the number of children for 7 families:
3,5,4,6,2,43,0

Reference: Ch3
The most appropriate measure of average for the above data is the ...
[¢]A- median

O B. mode

) C.mean

() D.range

If you get a score less than the average of the scores, then the value of the z score will be ...
() A.one.

O B. zero.

) C. positive.

[#] D- negative.

ele
The standard variation can take any value in the range ...
(A (- +@),
[¢]B.(0, +®).
) C.(-c , 0).
l_:_l D(O ' 1)
JU

The measures of central tendency that will always have unique values are ...
() A.mode and median.

) B.mean and mode.
EC. median and mean.
() D.mode and weighted mean.

&
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When data are cateqorized as, for example, places of residence (rural, suburban, urban), the most appropriate measure of centraltendency I the ..
() A ange.
E&mMa
() G mean,
() 0.median.

U
IM The average height of all students in KAU is called ...

() A.data.

E B. parameter.
() C. statistic.
() D. population.

05

he data of the following boxplot is ...

— > > N ™

(O A positively skewed.
() B. symmetrical.

(O C. bimodal.

E D.negatively skewed.

&
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The variable that is used to predict the value of another is called ...
() A. dependent variable.

() B. correlation variable.

() C.variable of determination.

D.independent variable.

105

The following information shows the amount of debt students who graduated from college incur.
51to $ 5000 $5001 to 520,000 $20,001to 550,000 $ 50,000 +
15% 15% 33% 37%
If a person who graduates has some debt, find the probability that it is between $1 and $ 20,000.
() A37%
EI B. 30%
0 € 15%
() D.70%

Iw An event and its complement are ...

() A.dependent.

(0 B. not mutually exclusive.
C. mutually exclusive.

() D.independent.

- OB - P

\

females, and 5 ofthe juniors are males. If a student is selected at random,

[n 2 statstics class there are 15 juniors and 10 seniors; 7 of the seniors are
nd the probabilty of selecting a senior or a female,

E]A. 0.8000
()B.0.8800
(01

()0.0.1200
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At a used-book sale, 103 books are adult books and 155 are children's books. Of the adult books, 69 are nonfiction while 60 of the children's books are
nonficton. If  book is selected at random, find the probabilty that it is not a children’s nonfiction book.

A0
0 BOGYS
00073
000500

* ‘._
7

109

1Fyou have 6-color code strips to choose from. How many different 6-color code strines can be made on'a sports car? All colors are used on

HA. Il

(8%
0 (.6
(0.3

If a die is rolled one time, find the probability of Getting a number less than 7.
O A.1/3

() B.0

O C.2/3

BD.I

- OB - P

() A.not known.

() B.independent events.

(e C. dependent events.

() D.mutually exclusive events.
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|WA probability experiment is conducted. Which of these (LN be considered a probability outcome?
0 A 24%

()80
00044

D- 125%

is an'example of .\

() A. fixed variable.

(¢ B. continuous random variable.
(O C. probability.

() D.discrete random variable.

When the binomial distribution is used, the outcomes must be ...
() A. dependent.

[¢] B- independent.

) C. both.

() D.none of the above.

- OB - P

A student takes  12-question, true/false exam and quesses on each question. Find the probability of passing with honar if the lowest grade for passing
with honor is 10 correct out of 12,

() A0.983687
080016113
[C 001928
0 00980713

&
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Im A correlation coefficient of -1 implies ...

() A. very bad relationship between the variables.
() B. no relationship between the variables.
() C.wrong calculations.

D. a perfect linear relationship between the variables.

117

CRENELRIEDS in the equation of the regression liney' = a + b xis called ...
(@ A.independent variable.

() B. confounding variable.
() C. resultant variable.
() D.dependent variable.

Im A correlation coefficient of -1 implies ..}

(@ A.a perfect linear relationship between the variables.
() B.very bad relationship between the variables.

() C.wrong calculations.

() D.no relationship between the variables.

— > > N ™

mlf there is a positive linear relationship between two variables, then [l Ao E ol TR & R G R W T N R G T (= R )

E]A.l
08B0
0C05
0 D.0.25
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The following data is recorded to determine the relationship between the number of hours a person goes without sleeping (x) and the number of mistakes
he makes on a simple test (y):

X y
0 9
0 4
% 4
16 0
7 10
17 10

 A6.041985

() B.37,698473

0 C.9.667929

() D.38.46565

part of the above box plot represe
(O A.the 1st percentile.
(@ B.the 3rd quartile.
() C.the 3rd percentile.
() D.the 1st quartile.

— > > N ™

WThe for a data set is unique and not necessanly one of the ‘data valuesh

® A.mean

() B.mode
() C.median
(0 D.range
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@ A.Is a measure that tells how many standard deviation a data value is above or below the mean.
() B.Is a measure of central tendency.

() C.1Is @ measure that tells how many mean a data value is above or below the standard deviation.
() D.Is a measure of how data values are related.

CREIER R g0 if exist depending on the information obtained from the following boxplot ...

() A.should be equal 70.

(® B.should be less than 70.

() C.can be any value.

() D.should be greater than 70.

-

What is the most appropriate measure of central tendency for the following data set?
ACE A e B D

— > > N ™

() A.mean
® B.mode
() C.range
() D.median

&
- 0566664790 [ lammiat— Slmiiskty] & A aLZRAD-OU] -



ORI NN GEEZRS TAT SKILLS

The measure of central tendency that isfeul [ RENTETRGERTETEE in the data set is called ...
() A.the mode.

(® B.the mean,
() C.the range.
() D.the median.

If the distribution of the data set isQuvElW AL Gl R R R TERV R [0 R T ERE B than the value of the median ...
() A should be 34.
() B. cannot be daterminad.

E|C. should be 49,
() D.should be §4.

— > > N ™

e standard variation can take any value in the range ...
@ A.(0, +00),
() B. (- +@),
O C.(0, 1).
& D.(-%© , 0).
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129

e sample size used to create the'following'graph'.,
Frequency Polygon
0
250 , Q
@
200 ,
E @
g 150 If ®
10.0 ®
e 0.
®
00 @ (@)
0 220 30 4 S 6 0 8 %
AGE ’
O Ais 10.
(@ B. cannot be determined.
O C.is 90. L
() D.is 450.
130 D
The data given below shows the cumulative frequency of students' grades in a class: I
Less tha;;;]ie A Less than 51 Lessthan 58 Less than 65 Less than 72 Less than 70
Cumulative Frequency b 17 31 47 72

Reference: cumiteq

Find the
(O A47

(@ B.68.5

(G235

(D101
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30.0

PERCENT
E Bk 5 B
= = = =

in
=

00 @

() A.cannot be determined.
() B.is 300.
@® C.is 250.
() D.is 200.

IGROER (| I TN T=To M R 4 =R requency ofithe third iclass'is 45 then the sample size i

Frequency Polygon

ph for displaying data of a discrete variableiis ...
() A. histogram.
() B.time series graph.
() C. pie chart.
(@ D.bar chart.
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133

e degree of O'blood 3 in the following graph is approximately ...

Blood Type

() A.28.8
@ B.165.6
i C.61.2
i D.104.4

he monthly number of car's accidents can be best disp
() A. histogram.

(@ B. bar chart.

) C.time series graph.

() D.pie graph.

Using the following graph, if the sample size is 250 thengai=Hig=l (1= ln A ) Rl ig el E T
Ogive
100.0 @

- OB - P

CUMULATIVE PERCENT
)
o

@ A.is about 65.

() B.is about 135.

(O C.is about 200.

() D.can't be determined.
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he data given below shows the cumulative frequency of students' grades in a class:

Less th;?;;e HPpEr Less than 51 Lessthan 58 Less than 65 Less than 72 Less than 79
Curmulative Frequency 6 17 31 47 2

Reference: cumireq

S RO EREEE midpoint of the fourth'class.

@ A.68.5
() B.47

0 C.23.5
o D.101

137

e distance between consecutive lower class limits is called the ...
() A. class midpoint,
() B.frequency distribution.
@ C. class width,
() D.class frequency.

m e frequency distribution isa ...

(@) A.table form consists of classes and frequencies.
() B. chart form consists of classes and frequencies.
) C.raw data.

() D.graph form consists of classes and frequencies.

@&
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139

Using the following graph, if the sample size is 200 then thef{yNlylo=alel g o=l CRVT T o R GE G dag =]y PR ORTER e
Ogive
1000 )
©
900 2
800 @
z 00
9]
£ 600
= 500 L
E ;
S 00
3 0 @
200
100 b—— L)
00 & @
10 20 30 40 50 60 70 80 90

EA. is about 172.

() B.can't be determined.
() C.is about 28.

() D.is about 60.

410

The following table illustrates thefyiul= il Sl sold in a grocery store:
Number of Gallons Frequency

8 7
21
28
37
32
64

= oy ShoLn L

— > > N ™

The best graph for displaying this type of data is ...
() A. histogram.
(# B. bar chart.
() C.pie chart.
() Diogive,

In a racent survey,21 people preferred milk, 32 peaple preferred coffee, and 8 paople preferred juice as their primary drink for breakfast, If a person is
selected at mndom,as her ar his primary drink.
W A0.131148
() B.0.737705
() C.0.868852
J D.0.47541

&
- 0566664790 [ lammiat— Slmiiskty] & A aLZRAD-OU] -



— ORI\ TS TAT SKILLS

(Ol E R ler | Ml e LTI W TAITEERY. .. to compute probabilities.
() A. populations

(o) B. the sample space

«» C.a frequency distribution

() D.samples

The wheel spinner shown here is spun twice. [EEEN] YR E NI

O A.S={(1,1),(2,2).(3,3)F
@ B.S={(2,1),(2,3).(3,1)}
@ C.5={(1,1),(1,2),(1,3),(2,1),(2,2),(2,3),(3,1),(3.2).,(3,3)F
O D.5={(1,2),(1,3),(2,3)F

- OB - P

[f17% of .5, federal prison inmates are not U.S. citizens, find the
0 A0.606
@ B.0.000
0 C.1.000
0 0.0.3%4
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Wake Up cereal comes in 2 types, crispy and crunchy. If a researcher has 10 boxes of each, how many ways can she select 7 baxes of each for a quali

0A10
@ B.14400
0 C.604800
0070

ways can a baseballlmanager armange a batting order of 8

- OB - P

(® B. 40320
O Cs8
) D.56

A couple has three children. Find the probability that
i A1/8
1 B.2/4
0 C.1/4
@ D.3/4
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lta narticular school with 301 male students, 98 play football, 34 play basketball, and 10 play both. What is the probabilty that a randomly selected male
student plays neither sports?

EA. 0.593
()B.0.359
000413
() 0.0.405

e student in a class is Saudi citizen and the student is a business major. The events are ...
() A.mutually exclusive

() B. outcome
() C.sample
@ D.not mutually exclusive

The standard deviation of a distribution is 20. If a sample of 225 is selected, what 1s the
standard error of the mean?

- OB - P

4 74 3

S@iutmn /
(o 20 q;;:{‘-;ﬂw,__.;_. S B b e AR RN R S :
n=225

20 s

o
tandard f the mean = = LS
Standard error of the m = «f.i_Z_S' Z

&
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Determine whether each statement is true or false. If the

statement is false, explain why.
@Thf.: total area under a normal distibution 15 infinite. &
@'I‘he standard normal distribution is a continuous distribution.
() All varigbles that are approximately normally distributed can be
transformed to standard normal variables. |
Thf: z value corresponding to a number below the mean is always

negative. E

@T[IE area under the standard normal distribution
to the left of z= 0 is negative. )
@The central limit theorem applics to means of samples selected from

different populations. sﬁi

Select the best answer.
@Thﬂ mean of the standard normal distribution is

k8 0 b. 1 c. 100 d. variable
A])prnximatel}r ﬁ;mt percentage of normally distributed data

- > > n- P

values will fall within 1 standard deviation above or below the

mean?

Bl 68% b, 95% c. 99.7% d. Variable

@Which is not a property of the standard normal distribution?

a. It's symmetric about the mean, E It's uniform.
c. It's bell-shaped. d. Tt's unimodal.
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@ When a distribution is positively skewed, the relationship of

the mean, median, and mode fraom left to right will be .
. Mean, median, mode
4 Made, median, mean
c. Median, mode, mean

d. Mean, mode, median

@ The standard deviation of all possible 5u:|||:+fl:-1.'e;e.:.1m equals
a. The population standard deviation.
b. The populetion standard deviation divided by the population mean.
El The population standard deviation divided by the square root of
the sample sixe.
i, The square root of the population standard deviation.

Complete the following statements with the best answer.

‘.IEE, When on u.is using the standard normal distriliution,
Plz=0)= D3

- OB - P

@The difference between s sampHe mean and & population mean

is duc to SERGDIIL i
n_—-—-—-—l—l-—-!
.iM}Thu: mean of the sample means qutﬂh ,'f-;i-'rir AHOnAmEaT)

e E——

{13 The standard deviation al all possible sample means 15 called

B i e Lo

Ky FisRHRTRE siwy e bl ke vt

&
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n: sample size taken from pupulaﬁun 1 Lena A dla 2] pudaea ¢ s B

A sampling distribution of sample means is a distribution using the
means computed from all possible random samples of a specific
size taken from a population Properties of the Distribution of
Sample Means

1. The mean of the sample means will be the same as the
population mean.

2. The standard deviation of the sample means will be smaller
than the standard deviation of the population, and it will be
equal to the population standard deviation divided by the
square root of the sample size.

Cmaad) <l Ay jes

- OB - P

A binomial experiment is a prebability experiment that

satisfies the following four reguirements:

-
A
-

. There muslt be a fixed number of trials, ’
lzzch trial has only two outcomes: success or [ail ;

!J

The outcomes of each trial must be independent of each other. a

e
oW

. The probability o

-
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